
819-5627  05/01

INSTALLATION INSTRUCTIONS
TRAY LOCK KIT 826-1485

1. Remove the filter tray from the
filter cabinet.

2. Remove the existing tray lock
assembly from each side of the
filter cabinet and discard.

3. Assemble the two new tray lock
assemblies with the parts
indicated and mount in the filter
cabinet in place of the
assemblies removed in Step 2.

4. Important: The 10-32 screw
and nut (Items 6 & 7) must be
assembled to the tray lock
assembly after the new tray
locks have been installed and
the filter tray has been replaced
in the cabinet.

5. Verify that the tray lock (Item 2)
does not rotate and that the tray
cannot be removed.

1

6 7 3 4 5

2

FILTER TRAY

REMOVE EXISTING TRAY LOCK ASSEMBLY
AND INSTALL NEW PARTS AS INDICATED.

ITEM QTY. PART NO. DESCRIPTION

1

2

3

4

5

6

7

2

2

2

2

4

2

2

9001959

9001957

8090442

8090189

8090059

8090119

8090054

BRACKET, FILTER LOCK

LOCK, FILTER

SCREW, 10-32 X 7/16

WASHER, 1/4" FLAT SAE

NUT, 1/4-20 HEX

SCREW, 10-32 X 1/2

NUT, 10-32 HEX


